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SECONDARY SCHOOL EXAMINATION - 2022 | _ t.o
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Question Booklet [ ANNOAL f ’ g -3
Set Code SCIENCE E ‘5‘
( Compulsory ) § g co
B
il z
( srfard )
Tl Ul I HEAT 80 + 30 = 110 | Tt qfad g=1 @ GE : 48
Total No. of Questions : 80 + 30 = 110 Total No. of Printed Pages : 48
(u7g : 2 62 45 fiFe) (qoTia : 80)
| Time : 2 Hours 45 Minutes | | Full Marks : 80 |
gtenferat & ford e : Instructions for the candidates :

1 w?zﬂnaﬁ OMR JT UA& -G 39T 1. Candidates must enter his / her
Question Booklet Serial No.
weT yieaar mHE (10 HFT F1) (10 Digits) in the OMR Answer

: Sheet.
Havg ford

o gl TurgyE 39R Vil § &l 2. Candidates are required to give their
answers in their own words as far

I 3 . as practicable.
3 eﬁq} 3#2’ g}ﬁ'ﬂ? org ﬁé‘g 3_?3; EW‘E 3. ngures in the right hand margin
indicate full marks.
Rl #xd a1
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H| (112]

@UE - A / SECTION - A

aﬁﬁﬁf W¥T / Objective Type Questions

T¥T W& 1R 80 7% awqivo Wy &1 36 @ et 40wl &1 I a1 &1 HAw 5T
& W =GR fewrq Ry qv § e ® ve wgt &1 oA g gA e W@l faweq w5t
OMR ¥11Z U7 fefgee &3 A40x1=40

Question Nos. 1 to 80 are of objective type. Answer any 40 questions. Each question has

four options out of which only one is correct. You have to mark your selected option on

the OMR sheet. | 40 x 1=40
1. = e Feel awq @ e i a9 € 2

(A) ORArae, IeeT aYT T8 (B) e, dT a9 B

(C) HIHHE, el el (D)  STdfaeh, IeeT a9l BT
What is the image of an object formed by the eye ?
(A) Real, inverted and enlarged (B) Virtual, erect and diminished

(C)  Virtual, inverted and enlarged (D) Real, inverted and diminished

2.  ToeA oftoy F faga o @ A & few @ IuEh dar € 2

| L

(A)  TeEEmEY (B)  diveHie
(€) @2 (D) 3THRY
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[112]
What is used to RRasiiLe the current in an electric circuit ?
(A) Galvanometer (B)  Voltmeter
(C) Voltameter - (D) Ammeter
et o o Frggr Wi 1 Fresie et s &
A vr B) V2IR
© rr . D) IR?
Which of the following does not represghg¥léctric power ?
Y | - ® V'R
@ R | 2 (D) 'Iég
.ﬁm%?aﬁﬁﬁ%ﬁaﬁwamﬁa;u%ﬁaaﬁqwm%?
(A) _3PIG i gigem ; (B) IUA o
©) st (O) & ¥ FE

Which one of the following can form a real image of an object ?

(A)  Glass slab (B) Convex lens
(C) Concave lens - (D)  None of these
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[112]
frdt fag-aq @ Freperat feoneol forelt ofw @ sroaiad @1t o forg w0 fromedt €,
IW Fed &

(A)  ThdT S ; B)  wiatee fag
(C) W™ D) T H
The point, at which the rays coming out from a point—objcct‘after refraction

through a lens meet is called

(A)  Centre of curvature (B) . Image point
(C) Focus (D)  Optical centre
I -t
(A) e ﬁ”‘i"T | ®) sl
€ et ' (D) 39 g

The objective lens of photography camera is

(A) Concave mirror (B) Concave lens
(C)  Convex lens - (D)  Convex mirror
S-1 | —| 17003-(68/70) Page 7/48
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[112]
Rl v 3 T M O o Y wgd W Mg frer A @ AW W@ T
w4 2
(A) 50 cm WIEHH T HT TH T o
(B) 50cmqﬁ#@r§ﬂwnmwéﬁ
(©) SCmW@WWWﬁﬁ " ‘

(D) 5 cm BT I & TH 3T 9
Which one of the following lenses would you prefer to usc while reading small
letters found in a dictionary ?

(A) A concave lens of focal length 50 cm

(B) A convex lensof focal length 50 cm

(C) A conave lens of focal length 5 cm

o i wdor e et e Tt S 2R A W R - 15 om 1 < T

(D) 4 A convex lens of focal length 5 cm

e

@ Guad: €
(A) YT A, g Iwe (B) U1 I, O Se
(€ ~ FF I (D) 3 ITed
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E [112)

A spherical mirror and a thin spherical lens have a focal length of - 15 c¢m each

The mirror and the lens are likely to be

(A) Concave mirror, convex lens (B) Convex mirror, concave lens

(C) Both concave (D)  Both convex

9. dite (V) SRR BT &

A Cc/J B) J/C
(C) J/A (D) - A/J
Volt (V) is equal to
&)  c/J ®) J/C |
C J/A ' (D) A/Jd
10. faga smEw % waTE SR Fed € |
(a)  foed uRT - (B) fogn e o
() fgwEict (D) ¥ & i

The rate of flow of electric charge is éa]lcd

(A) Electric current (B) Electromotive force
(C)  Potential difference (D)  none of these
F-116/116 S-1-|—| 17003-(68/70) Page .9!4-8
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(112

11. Feifsgds-w s e ?

(A) I = AT x AR (B) I = HeAl x AL

(C) et = % (D) = %M

Which of the foﬂoxviﬁlg statements is true ?

(A) = joule = volt x ampere (B) joule = coulomb x volt

(C) joule= a—“;% ' : (D) joule = E%%T?—b

12. —CHO axﬁq%wﬂawﬁa:aﬁ%

(A) TR TR | B (B) IS T

(c) tfcsersfes (D) UHIEIerS T

The functional group— CHO is called

(A] ether. group (B)  carbonyl group

(C) aldehydic group (D)  alcoholic group |
13.  UHATEA ol 9% H,S0, & Y T #A W Fr=iferd # we-d g w6 ¢ 2

(A) CH, (B) C,H,

(€)  C,Hg (D) C,H,

S-1 | —|17003-68/70 | Page 10/4
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I

[112)

Which of the following gases is formed on heating ethanol with concentrated

H,S0, ?
(A)  CH, (B) CyH,
(€) C,oHg i C?H.f‘

fors wwie Preie 3 v w7 SR E 2

(A) Hg (B) Zn

(C) Fe (D) Al

Zinc blende is an ore of which of the following metals ?

(A) Hg (B) Zn

(C) Fe (D) Al
a7 RO % el S & cieall H BI-1 0T GHH el € 2
(A)  _RHT YR (B)  XHI] HFAH

(C)  HaTHAl FeAa (D) el ) EE

Which property of clements is same in a period of Periodic Table.?

(A)  Atomic weight (B)  Atomic volume
(C) Valence electron (D)  No. of shells
S-1 | =] 17003-(68/70) Page 11/48
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16, affFa, cao41,0-»cagol 1), T e a4 sifafier & 7

(A) E‘mﬂrﬂ;—: | (1B) W

(©)  efler | A (D) uferzmE

The reaction, CaO |l20—->CII(O“]2 in of which type ?

(A) Dissociation (B)  Combination

(€)  Addition (D)  Substitution
17, STel T gerrele 1 g

(A) 3= (B) &R

(C)  wmE (D) T W HIE T

Watef seluble bases are called

(A) | Acid (B) Alkali

(C) Salt (D) None of these
18, el Ul @ g g e

(A) CaCO, B)  Na,CO,

(C)  Ca(HCOy), (D) NaHCO,

S-1 | =1 17003-(68/70 Page 1;;
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19,

20.

The chemical formula of soda ash is

(A  caco, o B
(C)  Ca(HCO,), il (D)
Freifenr & i foorret s &2

W i (B)

(C) HTH g (D)

[112]

Na2003

_NaHCOa

R 3T Uil

afgan

Which of the following is a heterogeneous compound ?

(A)  Limestone (B)
(C) . Marble (D)
afshm |rer &1 THEHEs 99 €

(A)  CaCOj _ (B)
(C)  Ca(OH), (D)

The chemical formula of baking soda is
(A) CaCO, (B)

(C)  Ca(OH), (D)

Plaster of Paris

Chalk

Na,CO,.10H, 0

NaHCO 3

Na,CO4.10H,0

l\JaI-I('J'C)3
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Page 13/48

BiharboardQuestionpaper.com

mScanner



https://biharboardquestionpaper.com/bihar-board-class-10th-science-question-paper/

H | [112]
21. f[=ifea § ®F 9uRe nd & 2
(A)  TREE I . ®)  wewEiE s
© T weT D) T
Which of the following is a corrosive atl:id-'lP
() Methanoic acid (B Sulphuric acid
(©)  Ethanoic acid (D)  None of these
22. ﬁqﬁﬁeﬁtﬁﬁﬁﬁmﬁp}lwﬁm% )
(A 4 B) 3
© 7 D) 105
The pH value ofumilk of magnesia is
(A) A ' | B 3
" 7 | (D) 105
03, WeHR & AN vl H oM Il GEAT €
A) 2 (B) 4
< 7 (D) 6
S-1 |—=|17003-(68/70) Page 14/:; _
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24.

25.

| (A) J/s (B)

; : 1S
The number of electrons in the valance shell pf sulphur i

(A) 2 B) 4

e 7 (D) 6

ﬁnﬁmaﬁﬁwmwaﬁw%?

(A) Cl B F

€ 1 0y . B,

Which of the following elements has maximqm jonization energy ?

(A) Cl B) F

c) 1 (D) Br

Rrfffiad & S-a1 A6 9 (W) o SRR 1§ 2

J,’sec2

c &2 is @) . Jes

Which one of the following units is equal to watt ?

112

(A)  J/s (B) J/sec?
© Jts™! ‘(D) J72s7?
S-1 | =] 17003-68/70) Page 15/48
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26. fo € & AR FF Feen 0 B T

(A) T @ | | | (B) T #

(©) A W o (D) R

The coil of the el.ectric heater wire is made up of

(A)  Copper (B) Zinc

(C) | Tungsten (ﬁ} Nichrome
o7. ol uitay @1 5% o1 <A fagd e @ S0 H SEE A1 €, €

(a) Wi ' (B) HRT

(C) Taﬂaﬁ{ ‘ (D) IE

The property of a circuit that converts electrical energy into heat is

(A). | resistance (B) current

(G’ Potential difference (D)  power
28. @ﬁwﬁaﬁﬂmwmwm&ﬁﬁaaﬁafﬂﬂﬁmwmﬁm%

(A)- forgger amesh 9t § AU (B) o o o ¥ FH

) faga 9% g | QT (D) T § His ol

S-1 |—| 17003-(68/70) | Page 16/48
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29,

30.

[112]

The potential difference across an electric cell upon drawing current becomes

(A)  more than emf - (B)
(C)  double the emf . (D)
SR o1t 7 e & |

(A) B - B)
© W D

- Non-renewable source of energy is

(A)  Coal (B)
(C)  Water (D)
FORE &I GE: il 3

(A)  HIRT Hy - {é]
© ‘Hevod (D)
Wavelength is commonly expressed in

(A)  metre (B)

(C) metre/sec . (D)

less than emf

none of these

Wind

Sun

T H

-

T A HIE A

hertz

none of these

BiharboardQuestionpaper.com
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31.

32.

Ferett rers R Q srfet g R 4 wfeeer o @ @

(A)

(C)

e

& (B) WM

eI | D) T A

[112]

When an electric cufrent flows through a conductor the moving particles are

(A)

(€)

Neutrons : (B) ' Protons

Electrons _ (D) None of these

12 v fowaiee & @ frgel ¥ dr 2 @i maw @ o o A fe s

AT E ?
(A) 2% , (B) 63T
(C) 12 SN (D) 247

How much work is done in moving 2 coulomb

12 V potential difference ?

(A)

(C)

2 joule (B) 6 joule

12 joule (D) 24 joule

s of charge between two points of

S-1 | —=| 17003-(68/70)
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[112]
33, AT S s s g e s e o 2
(A) T | B o
© W | s
Which plant did Mendel use for his genetic experiment: ?
. (A)  Rosc & (B) Mango
(C)  Pea ; (D) ' Potato
34, Th® WHR & wET 4§ aqﬁ:aama?ﬁm?% ?
(a) TFEd | | _ (B) SEEER
© (A) &R @) A (D) ?Fm T g T
Which tyi:uc of respiration releases more energy ?
(A)  Acrobic | . (B)  Anaerobic
(C) Both (A) and (B) | (D)  None of these
S-1 |- 1?003-t63170} Page 19/48
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35.

36.

[112]

aHE # ST U S €

&) T | (B) g

(C) PRME | : (D) IFH ST Al

Male genital gland in human is called

(A)  Testis ' . (B) Epididymis
(C)  Seminal vesicles (D) . Sperm duct
Sitem = T et fei &

(A) 3 = | B) I

) |™ (D) HH=E

An important characteristic of life is

(A) Movement of molecule (B): Growth
(C)  Organisation (D) = Coordination
S-1 | —| 17003-(68/70) Page g(),MS't
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E [112]
37. IS 9wy g

(A)  dngt B) FaH A

€ F9 uifcwr ok w¥faewd (D) (a) 3R () I

Autotrophic nutrition occurs in

(A) Plant (B) | Fungi

(C)  Some protista and prokaryotes (D) Both (A) and (C)
38.  TCTShICIZIAH Bl &

(A) qﬁm T (B)  hifvTeRT 54 H

(€) el he H D) TR §

Glycolysis occurs in ’

(A) Mitochondria (B) Cytoplasm

(C) Golgi complex (D) Chloroplast

S-1 | =] 17003-(68/70) Page 21/48
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[112]

30, cifam &% F TR U w W e

S @ e

© D) wE

Seructenaland Sisetonsl st st pervouseysten fsoalled

(A)  Neuron . (B) Dendrite

(C)  Nephron (D) Cyton
40. ®H-T1 T3 a9 W fRar S € 2

(A)  THEES | B) fgEE

(€  UHH (D) T

Which enzyme aclts on fét ?

(A) - Amylase | (B)  Trypsin

(C) Pepsin | (D) Lipase
41, 3P o 0IERR G €

(A) O, (B) Oj F

) Op D) Os

S-1 | =] 17003-(68/70) Page 22[48.
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[112]
The molecular formula of ozone js
A} O, ' (B) O,
€ 0O, (D) O5.
42. PpH Wﬁm—mmwﬁamﬁﬁaﬁﬁm% ?
A) 2 . . B 7
) 13 (D) 6
'Which value of pH represents alkaline solution ?
(a) 2 B 7
C) 13 | . (D) 6
43, VI % T 3] F FESIVT, W S & TS Y e s o ¥ 2
By Il B 2:1

C) 3 (D) 1:2

What is the ratio of number of atoms of hydrogen and oxygen in a molecule of

water ?
(A) 1:1 (B) e
(C) 3:1 (D) 122
S-1 [—]| 17003-(68/70) Page 23/48
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[112]

44 Fr=ifeRd Hehell gRT = ol & w-a wrg %‘ 5
@ 1A | B s
© e D) 'Sp
Which one is a metal in the elements represented by the following symbols ?
(A) l‘gA | ' (B) %ZB
& g D) 19D
45. oI SRS & [t 1 pH JH 41 & 2
@A) 12 B 7 -
(C) 8 (D) 4
What would be thé'pH value of the solution of an acidic oxide ?
(A) -~ 12 (B) 7
(C) 8 | (D) 4
46. Tl IR TFas & €
(A) am | | (B)
C) BN (D)  wEFAl
S-1 | =| 17003-(68/70) " page 24/48
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m | [112]

The hardest Natural substance is °

(A) Silver i (B) Iron
(C)  Diamond | | Y D) Coal

47. TOER STIEET 1 41 S g 21eyes
() B o B it
(C) A ' (D) &
What is the colour of silver jodide ?
(A) - White (B)  Yellow -
(C) Red (D) Green

48, uGA R TR W) T e &
(A)  3Uggd (B)  HeATET)

()  HIeT (D)  A99Eq

Respiration is which type of chemical reaction ?

(A) Oxidation (B) Exothermic
(C)  Combination (D)  Reduction
""‘-..__-___—__

S-1 | —|17003-(68/70)
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49.

50.

(112]
Wﬁwmﬁwm% ?
@ e m
© wnH | D rsaﬁ
Where are the reproductive -or’ganls o 5 plants ?

(A) Inroot (8) Inflower

(D)  In fruit
(C) In stem .

mmﬁq—mﬁmvﬁﬁﬁ%ﬁm@?ﬁ{mwmm% ?
) SRR (B) FFHRAEh

Feqafeash o) T Al

(©)

iti ' body ?
Which part of the brain maintains the position and balance of the body
i

1 . Hind-brain
(A) Fore-brain (B) -

(C)  Mid-brain (D)  All of these
_______..---"’
g.] | =] 17003-(68/70) ' . page 26/
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5l.

mﬁﬁm%ﬁﬁ% ?

[112]

M &8 B e

(C) AR D) K

In which plants are Stomata absent 3

A) Man

( 8o (B)  Hydrilla

[CJ *  Opuntia (D) Neri

ertum

5. BS-IV T Gy ¥

() IR A (B) w@&ft g Q&

(C) dg uguUT (D) <TeT WgHUT §

BS-IV is associated with

(A)  Soil pollution (B) Soun.d pollution

(C)  Air pollution (D) Water pollution |
5 T H SR @ aRe €

) =T (B) EMH

© et (D) FHEERgE
\—_
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54.

55.

\ [112]
Carrier of oxygefllin blood is
(A) Fat s (B) Hormone
(C) Haemoglobin (D)  Carbohydrate
i frd 7 @i ST E 2
(a) TN | - ® eIl
@ awRhE o) ¥

Which of the following is known as a birth hormone ?

(A)  Tyrosine (B) Oxytocin
(C)  Thyrotropin D)  Insulin
it it AR

(A) R H B) oEmEd
& R | o deiE 3

The sceds develop from

(A)  Anther (B)  Ovary
(C) Stamen (D) Ovule
& s1 | - [17003-8/70) | -
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[ [1124:
g6, TRl WOT ®
. I 206G |
A) = g i
- (B)  BII JHId HI
¢
N SE a; (D) TN &
Duodenum is a part of o o= g e S
(A Large intestine % (B)  Small intestine’!”
(® Buccal cavity (D) Stomach o B
57, e fehd YR 1 aiRRefaes @ & o
(A) A (B)  WFfTE |
()  3miferh O) T ¥ T
Which type of ecosystem is apond?
(A) Artificial (B) Natural
(©) Abiotie (D)  None of these
58, e o @ uifRufier o § Sidead S § HRE 5 € 2
(A) SERH (B) VW
(€ miwgef (0] | SENa
“‘\_____
S-1 I— 17003-(68/70) Page 29/48
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[112)
Which of the following are present in maximum number in an ecosystem ?
(A) Producers N (B) Herbivores

(C) Carnivores (D) Omnivorcs

q”lcﬁﬁdﬂ?ﬂ%ﬂ%ﬁgﬁﬁwﬁm%f@ﬁﬁwﬁm ?

(Aa) Co, (B) NO,

© o, o) T E TR

2

Which of the following was not prescnt on ecarth before the origin of livi

beings ?
A) CO, B) NO,

(C) Oy (D)  All of these
e & SeaT wedTEe e MR g €

(A) 80Hz (B) 70 Hz

(C) 60 Hz (D) 50 Hz

S-1 | —| 17003-(68/70) _ Page
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ﬂ’ | (112]' 

(A) 80 Hz

(B) 70 Hz
(€) 60 Hz

" (D) 50 Hz
g, T TR foer ey

(A) 10-7A '

B 10°a
€) - 10°A

(D)  107%A
One microampere electric Current is

=

(A) 10 'A

(B)  107°A
) 107°a )
©) ‘ D) 107*A

ot

R AT foreper weor fad T o forr &
W TEE Y o

© HeRrE | (D) I W

-

Narora Nuclear power plant is located in which state ?

) - Rajasthan (B)  Gujarat

(D)  Uttar Pradesh |

— | 17003-(68/70) Page 31/48
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63.

64.

AHEH W 3 & A e s e 2

(A) e Uo7 (B)
© fm | (D)
Which is used to get spectrum ?

© (B

(A) Concave mirror

(C) Prism (D)

(112 ]

Ielel gUUT i

g ! fgeeh &

Convex mirror

Glass slab

ﬁﬁﬁﬂmmﬁﬁmuﬁﬁamm%maﬁwﬁ%

(A) FHAW
(B) WIFd AR &9 F oY
(C) FEE |

(D) Qﬂwgﬁaﬂ'{gﬁﬁwﬁ%é\a

A magnified imaginary image by a convex lens is formed when the object is

placed
(A) at infinity
(B) between focus and lens

(C) at focus

(D)  between focal distance and twice focal distance
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[112]

@& 2
| B) 8

(C) 18 '
} (D) 32

A 2 ' B 8
(€ 18 | (D) 32
66. Wﬁﬁmmaﬁwﬁmﬂmmﬁﬁ ?
A M | B Mt
© m* o M3
From which of the following is the removal of elcc;cron the easiest ?
A) M . ‘(B) M7t
€ M2 D) M3

67. F:Fﬁqaﬂaéﬁaa‘fﬁmaﬂ#—mﬁamﬁaﬁ ?

(A)  K-9TeT (B) L9
© M3 | (D)  N-¥IA
. |
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[112]

Which shell is the outermost shell for elements in the second period ?

(A)  K-shell (B) L-shell
(C) - M-shell 50! | (D) N-shell
68. Tow TRSIFET S % WIwl HI FEl A &
(A) TS S (PN o '(B). Ui
o o P e
Members of the sat;urated hydrocarbon series is called
(A) alkyne > (B) | Ialke'ne
(C) <. alkanc (D)I alkanol
69. ﬁzﬁﬁamzﬁéﬂﬁmwﬁﬁ?ﬁ?ﬁwﬁﬂaﬁﬁﬁﬁf@ﬂﬁaﬂq—mﬁ
qezrod foar T 7
(a)  TerdH (B) SWIEFHW
(©) FERRE )  faferend e
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ﬂ (112 ]

Which of the follow; '
ow -
M8 clements was Jater placed in the blanks of the periodic

table left by Mcndclccv ?

(A) Gallium
(B) Oxygen

(D). Silicon
0. mwﬁéﬂ?&mwa#w aiﬁrqmﬁm%.

(A)  Tsug ® T ¥

€) T Hiory i (D) T 3qurg

The last member of each period in Periodic Table is

(A) a metal
| (B) = ahalogen

C : .
(C) an inert gas (D)  a metalloid

. &ﬁﬁﬁﬁﬁa%ﬁnﬁﬁﬁﬂﬁﬁﬁ{dﬁ:m@%la@ﬁa%

[ Sy

A) fEm ' B) 3w
©  wH - () Hifeam
¥ _
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An clement has two shells and both are completely filled with el

clement is
(A)  Neon o (B)  Argon

(C) Chlorine "~ (D)  Sodium

ﬁtﬂ%ﬁaﬁﬁaﬁ?m@_mmﬁﬁ%ﬁﬂ?%?

[112]

cctrons. The

72,
(A) F @
(C) Br O 1
Which of the following is the most reactive halogen ?
(A) F (B) Cl
(), Br D) 1
e R egfean @ wEd e
() TUgrH (B) TR
€ UEEH (D) TR
-
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ﬂ [112]

(B) Progesterone
(C)  Estrogen

(D)  Testosterone
(A) TN S ,

(B) & W
© =7 o

(D) st

The source of €nergy in the c€cosystem is

(A) Rainwater

(B)  Sunlight
(D) - Soil el U, Alee Uue, 3fide-dhl,
. UT&Iehd, siled, Ale eae, Ae-37 32
75. HHY F 3GHT H ¢ WeR e udien uss ua 3nfe & f3v...
( BiharboardQuestionpaper.com —p
RS - I - ®
. | 3faft fAfde e . ==
Al D) s |
The place of origin of humans is
(A) India (B) China
| (C)  Africa (D) America
‘\
S-1 [—| 17003-(68/70) _'
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H| | 11g
76.  Frafafes § @ e s G AT € 2
(;*\) A =R B) TP
(C) ueH | '. @) (B 3R (©) T
Which of the following is a sexually transmitted disease ?
(A)  Typhoid (B)” Gonorrhoea
(C) AIDS | (D) = Both (B) and (C)
77. HAD TE & HHR Bl §
(A)  TIATHR - (B.} WW
(C) U9 F € & FHR D) & | HIE TRl
The shape ©fhuman ’kidney is
(A) ¥ shetisal | (B)  Rectangular |
(C)  Bean shaped . (D)  None of these
g TpviEen § gH A ARG e H SR §
(a) TR B) TR
() AL D)  (A) 3 (B) A
P
S-1 | —| 17003-(68/70) page 38
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ﬂ [112])

change in body in adolescence is due
¢ to

[,\) Tcstostcmnc
(B) Estrogen

C Thyroxi
(C) yroxine (D)  both (A) and (B)

. a‘rﬂ’qﬁqﬁmaﬁaqaﬁ;ﬁm%
() T et g

(B)
© = :‘_ - D) e R
The period of sexual maturity 13 §a11ed
(A)  Adolescence (B) Puberty
(C)  Growth (D) | None of these
g0. 3T U T 9 HEgd: fremgrrear € ?

; | ! B demel | e sk g i
(A)  HFSHU _‘ : (B) - ﬁmm,aﬁaﬁm-ﬁ
UTEehd, Sled, Al &, de-3r7 3iie
s udten vss U= 32 & 3e...

(C)  CFC 4N | D) faem
' - 3 BiharboardQuestionpaper.com

What is the main cause of depletion of ozone layer ?

(A) Pollution (B) Pesticides
C) CFC : (D) Methane
-""“--—___
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